EAGRAROBREERT — 2 N— IBISH —F

202158H148 (£) 4BVNE1H

2R REEXA

REEF AMNES Sk

‘ [Ri&] & ‘ [REBE] — | Z () 12000 AR

[A&4£] 1 7% :5,100,000 2 3% :2,000,000 M 33 :1,300,000 M 43 :770,000 @ 5 % :510,000 [
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
334 4 2 | JIERE 1:10.7 1-11 35.6| 82.8 | 12 416 | FRFBE (ER)
115/8| =< AR 54.0 (=) (-2) IWFRF
L:A—-KFKNUFX B:77/48N AH 1F
e/ o= # 2 | EEEEC 1:10.7 87 359|828 | 3 | 434 |RUHR (FH)
= 54.0 () (-g) | EAFHHEARE
R:HL>TSyoell B:hIART YT AH tF
N N WEEB : — REEE (EA
£UL7waRTE it 2 e (11.110/.3 5-5 36.5| 81.0 | 10 12(1)? hEeZ
LA nk—1 B:Tyx—ET M- +EHIS
N o [© BEHF : - KERB— (E#)
B awe R i 2 ER 1(/1\(;? 4-3 36.9| 81.0 | 5 (453 A
-2 vv37 B:IyF—a32FK HE #—
~ o < n . _ 7
B I TINEF I 2 %I%* 1(.31/14; 13-13 [ 35.8| 79.0 | 6 (fi) :Eti%)\ (ER)
%774 B:HY/A>HO-X K #%
=0 4 o | BERE 1:11.3 2-1 37.5| 77.4 | 1 454 | DIEEFIE (3534)
6/5/9|1T—7v—0 54.0 (1 1/2) (44) | TBFR=F—LT 1> T2 ()
LTAVDENRA M)Ay b BTAINRY =X AH tF
N N . MAKSE : - MAKE— (EAH
AR R R ZANRAY B % 2 4510 UL}O’ =10 361 77T 8 ::)20) EANIE
RivavFehrs BTUFECR 1TyHIF—TI
S 5 ft 2 | BBRA 1:11.6 8-7 36.8| 74.3 | 13 | 470 |BERAIE (FH)
EE o | B/ 7AY 54.0 (1 1/2) (+12) AT
L:a—KAUFZ @:87a7 Bl B
. s 2 | AHZER 1:11.7 1-2 37.9]73.9 | 2 426 | HEAF (FR)
9(7(12|#v3A3A 54.0 (1/2) e | BB
LXK AT B:FvvTTYT §TH #H*E
# 2 | HHBZ 1:12.3 5-7 37.9| 68.5 | 4 | 424 |EEZRSE (ER)
10[7|13) IV 1 —F L7 54.0 3 172) o) | AREE
L:/TURN BN AY Ar—LT7yp—La—KRL—3a>
N FHE : = 58 (FR)
» NEEZAYS TR o2 A 1(.11/22.>4 8-12 37.6| 67.3 | 9 (4_5::3) m;ﬁ
R:F4 27— bEry b B a-LE— AH tH
= 5 4 2 | EHBE 1:12.7 2-3 38.8| 65.7 | 7 438 | BRE#E= (ER)
12|8[15| 7 T TLZY A ¥53.0 (1 172) (t12) | MEE#
R:F I w—Y BiTFAILE YA 7 A T LS
N HALBATE 13, — . . HFED— (FER)
i MEPESEPES it 2 zu 1 (123)0 5-6 38.6| 62.9 | 1 (z_tgg) ko
Rih>INZ— BENZ—HH— AH +F
- - : sl 13, - : . BEFIL (58)
valglial Ho s Ut TH L ) Sl 1(153)8 14-14 | 37.1| 53.6 | 14 (438) il
R A bk—n BihP /a0 A
i o2 | BESHER 1:19.0 15-15 | 40.2| 16.1 | 15 | 462 |/NEFRER (i)
EH 4 I—-FEH1H%4 A51.0 (21 %) (—) AEXHE
LA nak—1 BATERNZE S AH tH
@ 21 L
£ 48.1-36.9
NA>Z4 L | 11.9-10.7-11.2-11.9-12.4-12.6
® 1—F—@EBIERL
13—=7—
2o=5"=
Ja=77= (9,%12,15)11-(3,7,13)-(2,6,10) (1,8)5=14=4
43—+ — (x9,12) (11,15)3,7(2,6,13)1,8,10,5=14=4
[ N5
B R 8 9,760/ 714K 6-8 9,900 e 4-5 900M JEE 3-6-8 270,720H
# B 8 1,900/ 3-8 28,880M B = 6-8 38,100 3EE 8-6-3 1,701,350
6 280M 3-6 5,090 B H 8-6 95,430M
8 1,050

ARICOVWTRDTEEERROODE. TR LIV,




